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1. TlosicHioBAIbHA 3aIHCKA

Camocriiina pobora 3700yBadiB BHIIOI OCBITH € CKJIAAOBOK HABYANBHOTO MPOLECY,
BANKIIMBUM YHHHUKOM, sIKni QOPMye BMiHHS HABYATUCH i CIPHSIE AKTHBI3ALIT 3ACBOCHHS SHAHD.
Camocrilina poGora € OCHOBHHM 3acO0OM - OmaHyBaHHsi HaBUYaNbHOrO Marepiany y
11032ay AN TOPHIE Yac.

Jlani MeToanusi BKasiBKM npusHaYeri st camocTiiivoi poBorw 3100yBadis BUILOI OCBITH 3
kypey cnemiamsnocti 073 «Meunemxment», OGesar camoctiiinoi poboru y siamosizmocti mo
HABMATBHOTO NIAHY CHenianbHoCTI cknanae 104 ropnsm,

OCHOBHOW METOI0 JaHMX METOOUYHUX BKA3iBOK € HaBYMTH Malibytuix (axiBuis
CaMOCTIHO KOPUCTYBATHCA CCUIANBHOIO JHTEPaTypoIo, DPOSBHHYTH HPAKTHYHI HABHYKH
YUTAHHSI, TIEPEKNIaNy Ta PO3YMIHHS AHIIOMOBHOI miTeparypy 3a ¢axom, 30aradeHHs 3anacy
(axoBoi NEKCHKH Ta PO3LUNPEHHS KPYrosopy 3108ysaua BULILOI OCBITH.

Meronuusi BKa3iBKH BKIOHAIOTH CamoCTilini pofoTu, 1O MICTHTL TEKCTH, 10- Ta
MiC/IATEKCTOBl BIPABH, BNPABK 3 Ipamaruku, $axoBy fexcuky, supasu. Bia 3nobysaua suinoi
OCBITH BHMAra€ThCs BYKMBAHHA AKTHBHOI NIEKCHKH 33 CTCLIANBHICTIO HUBIXOM BiAMOBizeil Ha
NOCTABJICHI MUTAHHA, TEPeKNald, NPOJOBXNKEHHs DPE4eHb, CKNaJaHHs Miaoris, aHoTauil Ta
nonosigen.

Mertonuusi BkasiBKH CIPIMOBAHI HA 3aKPITJIEHHS JEKCHMHOTO TA TPAMATHYHOTO MaTepiany.

2. 3arajabni MeTOXHYHI BKA3IBKH
BkasiBku MicTsTh IpamMarTudHi Ta TEXHiUHI TEMH JUIS BHKOHaHHS caMocTiliHoi poboTu
3n00yBauiB BMIIOI OCBITH, HA3BH TEKCTIB [/ 4MTAHHA T4 NEPEKTAy | MEpeNik HABMANBHO-

METOIUYHEX JDKEPE.



3. OpienToBaHNi TeMATHYHHIA IIAH 3 TeM, AIKi BHHECEHI HA CAMOCTIHHY pooTy

Ne KinbkicTe rogut
posaiay, HazBa posainy i Temun Ha CaMOCTIfiHy
TeMH pobory
1 2 3
5 ceMecTp
Poznin Nel. «ExOHOMIKa»
1 Pobora 3 Tekcrom: «Needs, Wants and Demand». 4
2 JIeKCHKO — rpaMaTH4Hi BIIPABHU 34 TEMOIO 4
4 ITucemouii nepeknan tekcry. «Goods and Servisesy. <
S JIEKCHKO — rpaMaTH4Hi BIOPABH 32 TEMOKO 4
7 IMucemoBHi nepexsan Tekety «Macroeconomic Goalsy. 4
9 Jlekcuko — rpamaTu4Hi Bopasu 3a Temor «Business Cycle» 4
10 JIeKCHKO — rpaMaTH4Hi BOPaBU 4
11 ITnceMoBuil nepexaan Tekety «ICAO». 4
12 JIekCcHKO — rpaMaTH4Hi BrpaBu no Tekcty: «IATAY. 4
13 IMuceMoBUi nepexaan Tekcty «Airline Operating Costsy. 4
14 JIekCHKO — rpamaTH4HI BOpaBH No TekeTy: «Microenvironmenty 4
15 ITnceMoBuii nepeknan Tekety «Macroenvironment». CknagaHHs 4
aHoTaLil
£7 JlexcHKO — rpaMaTHYHI BIOPABH 10 TEKCTY 4
Bceroro 3a posaigom Nel 52
Bcroro 3a § ceMecTp 32
6 ceMecTp
Posnin Ne2. «JloricTrkay
1 ITucemoBuit nepexnan Texkcty «Job Discriptiony 3
2 Jlexcuko — rpaMaTHYHI BOPABH 3
. IMucemoswuii nepexnan Texcty «Modes of Transportation in 3
Logistics. Continued»
<4 JIeKCHKO — rpamMaTH4HI BOpaBu 3
5 ITncemoBuii nepexnan texcty «Classification of Incotermsy. 3
6 JlexcHuko — rpaMaTHYHI BOPAaBU 3
7 IMucemosuii nepexnan texcty «Terms of Payment in International 3
Trade».
8 JlexcHko — rpaMaTHuHI BOPABH 3
9 ITnucemoBui nepeknan Tekery: «Export Documents. Continued». 3
10 JIEKCHKO — rpamMaTH4Hi BOpaBu 3
11 ITncemoBuii nepexnan Tekety: «International Commercial Terms». 3
12 JIeKCHKO — FpaMaTH4HI BOpaBy 3
13 ITnceMoBuil nepexaan Tekety: «Methods of Paymenty. 3
14 JlexcHkO — rpaMaTH4HI BIpaBU 3 >
15 ITncemoBuii nepexnan tekery: «Methods of Payment 2. 3
16 JIeKCHKO — rpamMaTH4Hi BOpaBu 3
17 IMucemosuii nepexaan tekcty «An Offer. Kinds of Offersy». 2
18 Busuurn: « Structure of business letter». ITpasuina cknamanus 2
OIJIOBOTO JIHCTA
Bcroro 3a posginom Ne2 52
Bcboro 3a 6 ceMectp 52
Bcroro 3a HapyaaIbHOK AUCLUIHOKO 104




4. MeToanuHi BKa3iBKH 10 CAMOCTIiHHOT poGoTH
Pozgin Ne 1. «Exonomixa»

Tema 1 Pobora 3 Texkcrom: «Needs, Wants and Demand».

Exercise 1. Leam the following words and word combinations.

requirement — BUMOTra

acceptance — CXBaJICHHS, NPUXWIBHICTh
accomplishment — JOCATHCHHSA, YCIIX
means - 2acid

survival —  BIDKHUBAHHA

willingness - TOTOBHICTB

FExercise 2. Read, translate and give the gist of text 1.

Text 1. Needs, Wants and Demand

Economics like any other social science has its own vocabulary. To understand economics, a review
of some key terms is necessary: needs, wants, and demand.

A need is a basic requirement for survival. People have basic needs such as food, clothing and
shelter. People also have higher level needs, such as communication, love, acceptance, knowledge, hope
and accomplishment.

A want 15 a means of expressing a need. Food, for example, is a basic need related to survival. To
satisfv this need, a person may want a pizza, hamburger or other favourite food. That is there is any number
of foods that will satisfy the basic need for food.

The point is that the range of things represented by the term “want” is much broader than those
represented by the term “need”.

Sometimes the difference between a want and a need is clear, at other times, it is not.

A basic need 1s reflected in a want for a particular product. A want cannot be counted in the
marketplace until it becomes a demand — the willingness and ability to purchase a desired object.

FExercise 3. Give English equivalents,
CycninbHA HAYKa, OCHOBHI TEPMiHH, OaXkaHHA, MOMKT, BUMOTA, OCHOBHI MOTPEOU, CIITKYBAHH,
OPUXHIBHICTE, HAMIA, JOCATHEHHA, OaKaHa P14, 33A0BOJIbHATH NOTPeOH.

ITutaHHA ANA CAMOKOHTPOJIIO:
1. BuBuuTH CJIOBA 32 TEMOH.
2. Ilepexnan Tekcry: «Needs, Wants and Demand».

Tema 2. JIekCHKO — rpaMaTHYHI BIIPABH 33 TEMOK

[Tutanua ang CAMOKOHTPOJIKO:
1. BukoHatu BIIpaBH 34 TEMOKO NMHUCBEMOBO.

FExercise 4. Complete the sentences according to text 1.
1. Aneedis ... . 2. People have basic needs such as ... . 3. A wantis ... . 4. A basic need is reflected
in.. .5 Ademandis... .

Exercise 5. Match the terms on the left with the definitions on the right.

Term Definition
1. want a) the state or fact of continuing to live or exist,
2. need typically in spite of an accident, ordeal, or
3. demand difficult circumstances.
4. survival b) acquire (something) by paving for it; buy
5. acceptance ¢) adesire for something.
6. satisty d) approval or favorable regard.



7. purchase e) circumstances 1n  which something 1s
necessary; necessity.
f) fulfill (a desire or need).
g) the desire of consumers, clients, employers,
etc. for a particular commodity, service, or
other item.

Exercise 6. Translate the phrases into Ukrainian paying attention to different meanings of the words
want, need and demand.

Physical need; satisfy a need; basic human need for food; to live in need; for need of; to need badly;
you needn't shout; for / from want of something; to be in (no) want of something; to supply (anticipate,
consult, provide for) one's wants; to come to want; to want something badly / desperately / very much; her
hair wants cutting; my wants are few; to be wanted by the police; demand for higher pay; to demand higher
pay; to make demands; on demand; the law of supply and demand; to meet / satisfv consumers' demand; to
be in demand.

Exercise 7. Translate into English.

1. IMorpeba - e ocHOBHA BUMOTA Ans BiokuBaHHA, 2. JIH01H MArOTh OCHOBHI NOTPEOH, Taki AK Ka,
omar Ta xutno. 3. CnuKyBaHHA, KOXaHHA, NPUXUIBHICTE, M3HAHHA, HAJIA TA JOCATHEHHA - LiE IOACHKI
noTpedu BHWoOro ratveky. 4. bakaHHda - ue 3aci0 BHpakeHHsA moTpeOu. 3. Ilonmut - e roTOBHICTH Ta
3AATHICTD KYyIUTH DaKaHy pid.

Tema 3. ITucemouii nepexnan Texkety: «Goods and Servises».
JlekcHKO — rpamMaTH4HI BIPABHU 33 TEMOIO

ITuTaHHA AN CAMOKOHTPOJIKO:
1. BukoHaTH nepexnan TeKCTy

2. BUKOHATH MHCBMOBO JIEKCHMKO — IpaMaTHUHI BIIpaBu A0 Tekcty (9., ¢. c. 74 -80)

Exercise 1. Leam the following words and word combinations.

tangible — BIAMVTHHH Ha JOTHK, MateplanbHUI
nutrient — MMOKHUBHA PCYOBHHA

deplete — BUCHA)KYBaTH, BHYCPIVBATH

enhance — MOJINIIYBATH, IOCHTIOBATH

intangible - HEBIAUYTHHHA HA AOTHK, HEMATEPIATbHUN
utilize - BUKOPHCTOBYBATH

Fxercise 2. Read, translate and give the gist of text 3.

Text 3. Goods and Services

It takes land, labour, and capital that are used by an entrepreneur to produce goods and services
that will ultimately be used to satisfv our wants. Goods are tangible, meaning thev are something that can
be seen or touched. The production of goods requires using limited resources to produce in order to satisfy
wants. An example might be a farmer who grows grain. The farmer uses farm equipment manufactured
from resources; ground is a natural resource that is used to grow the grain; and because the growth of grain
depletes the nutrients in the soil, the farmer must use fertilizers to restore the nutrients. Limited resources
are used to produce natural or chemical fertilizers, but they are necessary for crop production. Water might
be used to irrigate the crop and enhance production. When the crop is ready for harvest, the farmer uses
additional resources to complete the process - equipment, gasoline, labour, and so on - which results in a
good that can be used or sold for use by others.

Services are provided in numerous ways and are an intangible activity. There is no doubt that one
can often see someone providing a service, but the service is not something that someone ¢an pick up and
take home to use. An example of a service is a ride in a taxi through a crowded citv. It takes resources for
the owner or driver to provide the service, and a passenger 1s consciously aware of nding in a taxi. When
the nde is completed and the provider has been paid, the passenger does not have anvthing tangible to hold
except the receipt. However, resources have been used to provide the service. The automobile used as the



cab, the fuel used to operate the cab, and the labour of the driver are all examples of resources being used
to provide a service that will satisfy a want.

It is important to understand that because goods and services utilize resources that are limited,
goods and services are also scarce. Scarcity results when the demand for a good or service is greater than
its supply. Remember that society has unlimited wants but scarce resources. It is scarcity, then, that causes
consumers to have to make choices. If individuals cannot have everything they want, they must decide
which of the goods and services are most important and which they can do without.

Exercise 3. Give English equivalents.

3anoBonbHATH GaXKaHHS, MATEPIATbHUIN, HEMATEPIaabHUM, BUPOOHHLTBO TOBApiB, 00/1aIHAHHS,
BHYCPIIVBATH TIOJKMBHI PCUOBHHHM, JOOpHBA, BIJHOBIIOBATH, 3POLIVBATH, TOKPALIyBATH, HAJaBaTH
MOCIIYTY, KBUTAHLIS, TATbHE, BAKOPHCTOBYBATH.

Exercise 4 . Answer the questions on text 3.

1. What does an entrepreneur use to produce goods and services? 2. What does the word “tangible™
mean? 3. What does the production of goods require? 4. Why are services intangible? 5. Why are goods
and services scarce? 6. What causes consumers to make choices?

Exercise 5. Match terms on the left with the definitions on the right.

Term Definition
1. goods a) perceptible by touch
2. services b) make available for use
3. tangible c) the desire of consumers, clients, employers,

etc. for a particular commodity, service, or
other item

4. intangible d) things that are made to be sold

5. supply ¢) unable to be touched or grasped; not having
physical presence

6. demand f) the amount of a good or service offered for
sale

7. provide g) the action of helping or doing work for
someone

Tema 4. [TucbmoBuii nepeknan rekcry «Macroeconomic Goalsy.
[IuTanHsA A1 CAMOKOHTPOIIO:
1.BuBuuru cioa no temi. (9., c. 80- 84)

2. Cknactu 3anuTaHHs 10 Tekcry. (9., c. 87)

Exercise 1. Learn the following words and word combinations.

aggregate ~ CYKYTIHHM, 3araabHuUi

lessen — 3MCHIIYBATH

recession — 3HWKCHHS, criajJ (BUPOOHHIITBA, MOMUTY TOLIO)
at hand — HassBHUM

disruption — po3maj, MOPYUICHHS, TIEPEPBa Y BUPOOHHILITBI
pursue something  — rHaTHcs (3a YMMOCH); MIEPECITiAYBaTH
fluctuation — KOJIMBAHHS

Exercise 2. Read, translate and give the gist of text 4.

Text 4. Macroeconomic Goals
Full employment, stability, and economic growth are the three macroeconomic goals most relevant
to the aggregate economy and consequently are of prime importance to the study of macroeconomics.
Full Employment. Full employment is achieved when all available resources (labor, capital, land
and entrepreneurship) are used to produce goods and services. This goal is commonly indicated by the




employment of labor resources (measured by the unemployment rate). However, all resources in the
economy - labor, capital, land, and entreprencurship - are important to this goal. The economy benefits
from full emplovment because resources produce the goods that satisfy the wants and needs that lessen the
scarcity problem. If the resources are not employed, then they are not producing and satisfaction is not
achieved.

Stability. Stability is achieved by avoiding or limiting fluctuations in production, employment, and
prices. Stability seeks to avoid the recessionary declines and inflationary expansions of business cvcles.
This goal is indicated by month-to-month and year-to-yvear changes in various economic measures, such as
the inflation rate, the unemployment rate, and the growth rate of production. If these remain unchanged,
then stability is at hand. Maintaining stability is beneficial because it means uncertainty and disruptions in
the economy are avoided. It means consumers and businesses can safely pursue long-term consumption
and production plans. Policy makers are usually most concerned with price stability and the inflation rate.

Economic Growth. Economic growth is achieved by increasing the economy's ability to produce
goods and services. This goal is best indicated by measuring the growth rate of production. If the economy
produces more goods this year than last, then it is growing. Economic growth is also indicated by increases
in the quantities of the resources--labor, capital, land, and entreprencurship-used to produce goods. With
economic growth, society gets more goods that can be used to satisfy more wants and needs-people are
better off; living standards rise; and scarcity is less of a problem.

Exercise 3. Make sure you can translate the following phrases.

Prime importance, consequently, available resources, entreprencurship, goods and services, the
employment of labour resources, unemployment rate, to lessen the scarcity problem, to achieve satisfaction,
to limit fluctuations, recessionary declines, inflationary expansions, long-term consumption, to measure the
growth, rate of production, living standards.

Exercise 4. Put 4 types of questions to the sentence.
Policy makers are concerned with price stability and the inflation rate.

Exercise 6. Analyze the -ing form.
1. Famous for its Windows operating system, Microsoft is the world’s Nel software company.
2. Stop trying to make the company expand.
3. A three-day weekend will reduce the factory’s heating costs.
4. Stability is achieved by avoiding or limiting fluctuations in production, employvment, and prices.
. Maintaining stability is beneficial because it means uncertainty and disruptions in the economy are
avoided.
6. Economic growth is achieved by increasing the economy's ability to produce goods and services.
7. With economic growth, society gets more goods that can be used to satisfy more wants and needs-people
are better off; living standards rise: and scarcity is less of a problem

W

Tema 5. Jlexcuko — rpamaTinyHi BripaBu 3a TeMoro «Business Cycle»

[TuTanHs 115 CAMOKOHTPOIIO!
1. ITpounTaTtu Texct : «Business Cycle» Bunucatu i BUBYMTH HOBY JIEKCHKY.
2. BUKOHATH JIEKCUKO — rPaMaTH4HI BIPABHU JI0 TEKCTY

Exercise 1. Learn the words and phrases from the text.

gross domestic product

BQJIOBHH BHYTPILIHIH MPOAYKT

trough — HaMHMKYa TOYKA; JHO
recovery —  BIIHOBJICHHS, I AHOM
output —  MPOAYKLIS; BUMYCK

Exercise 2. Read, translate and give the gist of text 5.

Text 5. Business Cycles



Business cycles are more-or-less-regular fluctuations in the level of economic activity. These are
the up and down phases that accompany the increases or decreases in gross domestic product. Each business
cycle goes through four phases: peak, recession, trough, and recovery. These are positions on the cycle and
indicate the level of income, output, and employment. Figure 2 is a business cycle with the phases identified.
The peak is the highest point; the declining period is the recession. A deeper, longer recession is sometimes
called a depression. The trough is the lowest point and recovery is the upwards wing. Although all business
cycles follow the same pattern of peak, recession, troughs, and recovery, not all cycles are the same. Some
peaks are higher than others, some recessions are longer and more severe, and other variations occur from
cycle to cycle. The lower portions of the cycle are usually accompanied by high rates of unemployment.
Yet upward movements on the business cycle that reduce unemployment may result in increased inflation.
The term unemployment is frequently used in macroeconomics. Unemployment means that there are people
looking for a job but are unable to find work at the going wage. There may be work available that they are
not trained to do, or there may be work available in other areas of the country. But these people cannot find
work that they are capable of doing, that would not require relocating, or that would pay a wage they are
willing to accept.

GDP Peak

/ Recovery
Recession /
.

S

Trough

Time

Figure 2. Business Cycle
This figure shows the phases of the business cycle. The high point is the peak, the declining portion
is the recession, the low point is the trough, and the rising portion is the recovery.

Exercise 3. Give Ukrainian equivalents.

More-or-less-regular fluctuations, up and down phases, increases or decreases in gross domestic
product, indicate the level of income, employment, pattern, to be accompanied by, high rates of
unemployment, to reduce unemployment, to result in increased inflation, macroeconomics, to require
relocating, wage.

Exercise 4. Answer the questions.

1. What is business cycle? 2 What phases does each business cycle go through? 3. What do
positions on the cycle indicate? 4. Are all cycles the same? 5. What does the term unemployment mean? 6.
What are the main reasons why people can’t find work?

Tema 6. [Tucemosuii nepexnan texcty «ICAO».
[TuTanHsA A5 CAMOKOHTPOIIO:
| .BukoHaTu nepeknan TEKCTY .
2. Jlatu BIANOBIAI HA MUTAHHS 10 TEKCTY

Exercise 1. Leamn the following words and word combinations.

permanent — MOCTIHHUH

means — 3acib

matter — NHUTaHH

air traffic control — VOPaBIIHHS HOBITPSHHM PYXOM,

JAUCTIETYEPChKA CTyKOa



airworthiness — MPHUAATHICTB A0 CKCILTyaramii

facilities — 3aco0u 00CaYrOBYBaHHS
implementation — 3aMpOBAKCHHS
consequence — HACILAOK, PE3yIbTAT
vary — 3MIHIOBATHCS

take into account — Oparu 10 yBaru

Exercise 2. Read, translate and give the gist of text 2.

Text 2. International Civil Aviation Organization (ICAO)

In November 1944 a Convention on International Civil Aviation was signed by 52 States which set
up the permanent Interational Civil Aviation Organization (ICAQ) as a means to secure international co-
operation at highest possible degree of uniformity in regulations and standards, procedures and organization
regarding civil aviation matters.

There are two major activities of ICAQ:

a. those which cover generally applicable rules and regulations concerning training and licensing
of acronautical personnel both in the air and on the ground, communication systems and procedures, rules
for the air and air traffic control systems and practices, airworthiness requirements for aircraft engaged in
international air navigation as well as their registration and identification, acronautical meteorology and
maps and charts.

b. those concerning the practical application of air navigation services and facilities by States and
their coordinated implementation in specific areas.

To meet the latter objective it was agreed to sub-divide the surface of the carth into a number of
"regions" within which distinct and specific air navigation problems of a similar nature existed. A typical
example of this process is illustrated by a comparison of the so-called "North Atlantic Region (NAT)",
where the primary problems concern long-range overseas navigation, with the "European-Mediterranean
region (EUR)" where the co-ordination of trans-European operations with domestic and short-range
international traffic constitutes the major problem. As a consequence of the above ICAO adopted the
concept of Regions and Regional Offices on the understanding that any regional activities could vary from
Region to Region taking into account the general economic, technical or social environment of the Region
concerned.

Exercise 3. Answer the questions on text 2.

1. When was ICAO set up? 2. What is the aim of ICAO ? 3. What major activities does ICAO
cover? 4. Why was the surface of the earth sub-divided? 5. What do regions share? 6. Why do activities of
ICAOQ vary from Region to Region?

Tema 7. Jlexcuko — rpamatuyHi Brpasu 10 TekcTy: «[ATA».
[TuTaHHs U1 CAMOKOHTPOJIKO
1 .BMBYMTH HOBI CJIOBA 3a TEMOKO
2. BukoHATH Oris10B€ YNTAHHS TEKCTY
3. BuxkoHaTtu BIpaBH 0 TEKCTY

Exercise 1. Leamn the following words and word combinations.

scheduled traffic — PErVIISIPHI PeHCH
awareness — 0013HAHICTh
impact — BILTHB
stakeholders — aKLIOHEPH
expertise — KOMIIETCHTHICTb
complexities — CKJIaHOLI

Exercise 2. Read, translate and give the gist of text 7.

Text 7. International Air Transport Association (IATA)
Air transport is one of the most dynamic industries in the world. The International Air Transport
Association (IATA) is its global trade organization.



Over 60 years, IATA has developed the commercial standards that built a global industry. Today,
IATA’s mission is to represent, lead and serve the airline industry. Its members comprise some 230 airlines
- the worlds leading passenger and cargo airlines among them - representing 93 percent of scheduled
international air traffic.

IATA secks to improve understanding of the industry among decision makers and increase
awareness of the benefits that aviation brings to national and global economies. It fights for the interests of
airlines across the globe,

IATA’s aim is to help airlines help themselves by simplifving processes and increasing passenger
convenience while reducing costs and improving efficiency. Safety 1s IATAs number one prionty, and
IATA’s goal is to continually improve safety standards. Another main concern is to minimize the impact
of air transport on environment.

IATA ensures that people and goods can move around the global airline network as easily as if they
were on a single airline in a single country. In addition, it provides essential professional support to all
industry stakeholders with a wide range of products and expert services, such as publications, training and
consulting. IATA’s financial systems also help carmiers and the travel industry maximize revenues.

For consumers, IATA simplifies the travel and shipping processes, while keeping costs down.
Passengers can make one telephone call to reserve a ticket, pay in one currency and then use the ticket on
several airlines in several countries.

[ATA allows airlines to operate safely, securely, efficiently and economically under clearly defined
rules.

IATA serves as an intermediary between airlines and passenger as well as cargo agents via neutrally
applied agency service standards and centralized financial systems.

A large network of industrv suppliers and service provides gathered by [ATA provides solid
expertise to airlines in a variety of industry solutions.

For governments, [ATA secks to ensure thev are well informed about the complexities of the
aviation industry to ensure better, long-term decisions.

IATA’s aims are:

I. To promote safe, regular and economical air transport for the benefit of the peoples of the world,
to foster air commerce, and to study the problems connected therewith;

2. To provide means for collaboration among the air transport enterprises engaged directly or
indirectly in international air transport service,

3. To cooperate with the International Civil Aviation Organization (ICAO - the specialized United
Nations agency for civil aviation) and other international organizations.

Exercise 3. Translate into English.

1.3apmaku podoti IATA nacakupu MOXYTh OPOHIOBATH KBUTOK MO TeNeOHY, CITAYVBATH B OJHIMH
BAJIIOTI, a MOJOPOXKYBATH MO PicHHM KpaiHaM. 2 IATA Hagae mepeBard BCIM 3aLIKABICHHM CTOPOHAM:
CHOKUBAYAM, ABIAKOMIIAHIAM, [TOCTAUANIBHHKAM, BAHTAXKHHUM areHTaM, ypanam towo. 3. IATA cTeopuma
YiTKO BH3HAYCHI MpaBHAA 3 YCIX BHAIB JIANBHOCTI B aBiawiiiHiil ranysi. 4. Came IATA 3abesncuye Bci
AaBTOTPAHCTIOPTHI  miampHeMmcTBa 3acobamu  Ang  cmiBnpawi.3 [ATA  Hamara€Tbcd  MOKPALUMTH
B3A€MOPO3YMIHHS MK CTPYKTYPaMH, SKI nocepeauso ado Oesnocepe1Hb0 3anydeHi y ¢hepy asiamii.

Fxercise 4. Answer the questions on text 7 and speak on IATA using the scheme

1. What does IATA stand for?

2.2. What industry is one of the most dynamic?

3.3. What is [ATA’s mission?

4.4. What/Who are the members of [ATA?

5.5. What does IATA seek?

6.6. What does IATA fight for?

7.7. What are the priorities of IATA?

8.8. What does IATA provide for consumers /airlines/ industry suppliers/governments?
9.9. What are the aims of [ATA?

[ TATA |

International Air Transport Association




Year of 1945 in Havana
foundation:
Main document: Montreal, Geneva
Affiliates: more than 200 airlines
The main body | General Annual Meeting
The executive The Executive
b(:dv// Committee\

Financial Legal Technical Traffic Medical
committee committee | committee [ committee | committee
accounting the legal cooperation the all
and settle- ground on | among air- | commercial | physio-
ment bet- which the lines in activities of | logical and
ween airli- whole operational | the airlines, | psvchologic

nes, structure of and exchange of | al  factors
currency and mterline techmcal traffic bet- | which might
exchange, agreement matters ween airli- | affect safe-
taxation, and nes tv, comfort
charges, documenta- and effia-
insurance, | tion is based ency of air
statistics crew  and
passengers

Tema 8. ITucemoBuii nepexnan texcry «Airline Operating Costs».

ITuTaHHA AN CAMOKOHTPOJIO:
1. BuBYHTH HOBI CJIOBA IO TEKCTY
2. TIpounTaTi OrIAA0BO TEKCT 1 3pOOUTH TE3H/TUIAH TEKCTY

Exercise 1. Leam the following words and word combinations.

artificially —
new startups N
hub -
operating cost (s) -
fixed cost (s) -
full service airlines -

internal cost center -

consistent —
tax collector -

lessor -
player -

new breed -
accelerate the demand -
cke out —

shakeout -
bankruptcy law -
get rid of smth (smb) -

IITYUHO, HEPHPOIHO

HOBI MOYHHAHHA, HOBI CTApTH
BY3JIOBHI acponopT

eKCIUTyaTaliiiHi BUTpaTH

MOCTIi{HI BUTPaTH

aplamHil, me 3a0e3neuyioTh MOBHHH
KOMILIEKC OOCTYTOBYBAHHS
BHVTPILUHIH KanbKVIAUIHHAN BIAALT,
3BITHO-KAJIbKY AL HHUI 1 APO3ALT
NOCIIOBHUH, CTIHKHH, BIANOB]THHE
MOJATKOBUI  IHCMEKTOp,  30Hpau
NOJATKIB
OpeHAoJaBeLb
KOMIMaHig, lI0
MECPEBE3CHHIX
HOBE MMOKONIHHA
NPHCKOPIOBATH MOTPEOY
MOTOBHIOBATH,
301MBIIVBATH

nepeTpacKa

3aKOH Mpo OAHKPYTCTEO
no30yTHCA YOTOCk (KOTOCH)

Oepe yuactp Vv

JIOIABATH,

Fxercise 2. Read the text, write a plan of the text i the form of statements.

Text 8. Airline Operating Costs



Full-service airlines have a high level of fixed and operating costs in order to establish and maintain
air services: labor, fuel, airplanes, engines, spares and parts, IT services and networks, airport equipment,
airport handling services, sales distribution, catering, training, aviation insurance and other costs. Thus all
but a small percentage of the income from ticket sales is paid out to a wide variety of external providers or
internal cost centers.

Moreover, the industry 1s structured so that airlines often act as tax collectors. Airline fuel is untaxed
because of a series of treaties existing between countries. Ticket prices include a number of fees, taxes and
surcharges bevond the control of airlines. Airlines are also responsible for enforcing government
regulations. If airlines carry passengers without proper documentation on an international flight, they are
responsible for returning them back to the original country,

Analvsis of the 1992-1996 period shows that every plaver in the air transport chain is far more
profitable than the airlines, who collect and pass through fees and revenues to them from ticket sales. While
airlines as a whole earned 6% return on capital employed (2-3.5% less than the cost of capital), airports
camed 10%, catering companies 10-13%, handling companies 11-14%, aircraft lessors 13%, aircraft
manufacturers 16%, and global distribution companies more than 30%. (Source: Spinetta, 2000, quoted in
Doganis, 2002).

In contrast, Southwest Airlines has been the most profitable of airline companies since 1973,

The widespread entrance of a new breed of low cost airlines beginning at the turn of the century has
accelerated the demand that full service carriers control costs. Many of these low cost companies are able
to eke out a consistent profit throughout all phases of the business cycle.

As a result, a shakeout of airlines is often occurring. Some airlines have declared bankruptcy. Some
argue that it would be far better for the industry as a whole if a wave of actual closures were to reduce the
number of "undead" airlines competing with healthy airlines while being artificially protected from
creditors via bankruptcy law. On the other hand, some have pointed out that the reduction n capacity would
be short lived given that there would be large quantities of relativelv new aircraft that bankruptcies would
want to get rid of and would re-enter the market either as increased fleets for the survivors or the basis of
cheap planes for new startups.

Where an airline has established an engineering base at an airport then there mayv be considerable
economi¢ advantages in using that same airport as a preferred focus (or "hub") for its scheduled flights.

Exercise 3. Put five kev questions on the text.

Exercise 4. Give Ukrainian equivalents.

Fixed costs, operating costs, full-service airlines, to maintain air services, airport handling services,
sales distribution, catering, aviation insurance, tax collectors, to be untaxed, fees, surcharges, to enforce
government regulations, plaver, to collect and pass through fees and revenues, return on capital emploved,
a new breed of low cost airlines, to accelerate the demand, to eke out a consistent profit, bankruptcy law, a
wave of actual closures, t0 reduce the number of “undead” airlines, to be protect from creditors via
bankruptcy law, to be short lived, to get rid of.

Tema 9. JIekCHKO — rpaMaTHYHI BIIpaBH MO TeKCTy: «Microenvironment»
ITutaHHA ANA CAMOKOHTPOJIIO:
1.BukoHaTH OMISAOBE YHTAHHA TEKCTY 9

2. BukoHaHHA BIpaBH 3-6 3a TEMOIO

Exercise 1. Learn the following words and word combinations.

marketing environment —  MAPKETHHIOBE CEPEAOBHIIE
perspective - Teopif, KOHLEMLIA

supplier —  NOOCTAUABHHK

machinery —  BupoOHHuE 0O THAHHS
management department -  yOpaBTHCBKHE BLLILT

research department —  iHpOopMALIHHO-AHAMITHITHA Bi LT
development department -  JOCHIIHHLBKO-KOHCTPYKTOPCBKHH

Biain



purchasing department
operations department

accounting department
intermediary

reseller

impact

financial publics
hinder

obtain funds
level of credit
media publics

editorial

government publics
legislation
citizen-action publics
environmental group

minority group
public spotlight
local public
neighbourhood and
community
organizations
general public
internal public

BIJALT MaTEPlalIbHO-TCXHITHOTO
3abeaneyucHHs

orepauiiHu BIZILT; BiAALN
eKcrutyararii

oyxranrepis

MOCEPEIHHUK

nocepeanuk (pipma, mo
CIICLIAI3YEThCS HA ONTOBUX
MOCTaBKaX Ta TOPrOBOMY
MOCEPEIHULITBI)

BILTHB

(inaHCOBI KO

3aBAKATH

3aJ1y4aTd KOIITH

PIBEHB JOBIPH

KOHTaKTHa ayauTopis 3aco0iB
iHpopmarui

peaakiiiiHa CTaTTs

JEpyKaBHHU CEKTOP

3aKOHOJABCTBO

TPOMAJCHKI TPYIIH BILTHBY

.3eneHl”; rpyna 3aXHCTY
HABKOIMIIHBOIO CEPEAOBHILA
HALIIOHAIbHA MCHIITUHA

LEHTP rPOMaJIChKOi yBaru

MICHEBA CIIIIBHOTA

MICIIEBI Ta IPOMAICHKI OpraHizamii

HIMPOKA TPOMAACHKICT
IITATHUH nepcoHan GpipMu

Exercise 2. Read, translate and give the gist of text 9.

Text 9. Microenvironment

The market environment is a marketing term and refers to all of the forces outside of marketing that
affect marketing management’s ability to build and maintain successful relationships with target customers.
The market environment consists of both the macro-environment and the microenvironment.

The microenvironment influences the organization directly. Micro tends to suggest small, but this can
be misleading. In this context, micro describes the relationship between firms and the driving forces that
control this relationship. It is a more local relationship, and the firm may exercise a degree of influence. It
includes the company itself, its suppliers, marketing intermediaries, customer markets, competitors, and
publics.

The company aspect of microenvironment refers to the internal environment of the company. This
includes all departments, such as management, finance, research and development, purchasing, operations
and accounting. Each of these departments has an impact on marketing decisions. For example, research
and development have input as to the features a product can perform and accounting approves the financial
side of marketing plans and budgets.

The suppliers of a company are also an important aspect of the microenvironment because even the
slightest delay in receiving supplies can result in customer dissatisfaction. Marketing managers must watch
supply availability and other trends dealing with suppliers to ensure that product will be delivered to
customers in the time frame required in order to maintain a strong customer relationship.

Marketing intermediaries refer to resellers, physical distribution firms, marketing services agencies,
and financial intermediaries. These are the people that help the company promote, sell, and distribute its
products to final buyers. Resellers are those that hold and sell the company’s product.

Physical distribution firms are places such as warchouses that store and transport the company’s
product from its origin to its destination. Marketing services agencies are companies that offer services



such as conducting marketing research, advertising, and consulting. Financial intermediaries are institutions
such as banks, credit companies and insurance companies.

Another aspect of microenvironment is the customers. There are different types of customer markets
in¢cluding consumer markets, business markets, government markets, international markets, and reseller
markets. The consumer market is made up of individuals who buy goods and services for their own personal
use or use in their household. Business markets include those that buy goods and services for use in
producing their own products to sell. This is different from the reseller market which includes businesses
that purchase goods to resell as is for a profit. These are the same companies mentioned as market
intermediaries. The government market consists of government agencies that buy goods to produce public
services or transfer goods to others who need them. International markets include buyers in other countries
and includes customers from the previous categories.

Competitors are also a factor in the microenvironment and include companies with similar offerings
for goods and services. To remain competitive a company must consider who their biggest competitors are
while considering its own size and position in the industry. The company should develop a strategic
advantage over their competitors.

The final aspect of the microenvironment is publics, which is any group that has an interest in or
impact on the organization’s ability to meet its goals. For example, financial publics can hinder a company’s
ability to obtain funds and affect the level of credit a company has. Media publics include newspapers and
magazines that can publish articles of interest regarding the company and editorials that may influence
customers’ opinions. Government publics can affect the company by passing legislation and laws that put
restrictions on the company’s actions. Citizen-action publics include environmental groups and minority
groups and can question the actions of a company and put them in the public spotlight. Local publics are
neighbourhood and community organizations and will also question a company’s impact on the local area
and the level of responsibility of their actions. The general public can affect the company as any change in
their attitude, whether positive or negative, can cause sales to go up or down because the general public is
often the company’s customer base. And finally, the internal publics include all those who are employed
within the company and deal with the organization and construction of the company’s product.

FExercise 3. Answer the questions.

1. What does the market environment refer to? What are its elements? 2. What is microenvironment
and what company departments does it include? 3. Why are the suppliers of a company an important aspect
of the microenvironment? 4. What are marketing intermediaries? 5. What is the difference between
resellers, physical distribution firms, marketing services agencies, and financial intermediaries? 6. What
are the types of customer markets? Describe each of them. 7. What are competitors? 8. What is the final
aspect of the microenvironment? What groups does it include?

Fxercise 4. Give Ukraiman equivalents.

Target customers, to influence the organization directly, research department, accounting department,
to have an impact on marketing decisions, to result in customer dissatisfaction; to promote, sell, and
distnibute product; international market, market intermediary, to remain competitive, level of credit, to put
restrictions on the company’s actions, neighbourhood and community organizations.

Fxercise 5 .Give English equivalents.

BynyeatH Ta MATPHUMYBATH CTOCYHKH, PYLIIHHA CHIA, MAPKETHHIOBHI MOCEPEAHUK, KOHKVPEHT,
YOPABMHCHKHUE Bi LA, BLIALT MATSPIAIbHO-TEXHIMHOTO 3a0€3NCYeHH, MAPKETHHIOBES ar¢HTCTBO, CKIAJ,
HEePEBO3UTH MPOAYKT Bl MICHA HOXOKSHHS A0 MiCLA MPH3HAYSHHS, PHHOK KJII€HTIB, CTIOXKHUBUHH PHHOK,
AepKaBHHH PHHOK, JOCATATH UiNEi, (IHAHCOBI KOJa, KOHTAKTHA ayauTOpid 3aco0iB iHpOpMaLii, LIKaBI
CTaTTI.

Exercise 6. Put questions to the underlined words.

1. The microenvironment influences the organization directly.

2. Marketing intermediaries refer to resellers, physical distribution firms, marketing services
agencies, and financial intermediaries.

3. Citizen-action publics include environmental groups and minority groups.

4. The company should develop a strategic advantage over their competitors.

5. The market environment consists of both the macroenvironment and the microenvironment.




Tema 10. PoGorta 3 TekctoM «Macroenvironmenty. CxnagaHHs aHOTaLil

IMTutaHHA ANA CAMOKOHTPOJIIO:
1. BHBYHTH HOBI CJIOBA 33 TEMOIO
2. CKNacTH aHOTaUllo OO0 TEKCTY

Exercise 1. Learn the following words and word combinations.

baby boomer - ©0ebi-OyMep (auTHHA, 1O
HAPOIUIACA LA uac
MICISIBOEHHOTO AeMOTpadiHOro

BHOVXYV)
purchasing power — KYNIBEIbHA CIIPOMOKHICTD
raw materials — CHPOBHHA
intervention — BTPYYaAHHA
surgery — XIpyprig
nuclear missiles - SAOEPHI pakeTH
update - TNOHOBIIOBATH
restriction —  oOMexeHHS
subliminal message - 3BCPHEHHA, CrpAMOBaHe Ha
M ACBLIOMICTE
core beliefs — OCHOBHI NEPEKOHAHHS
secondary beliefs - BTOPHHHI NEPEKOHAHHA

FExercise 2. Read, translate and give the gist of text 10.

Text 10. Macroenvironment

The macro environment refers to all forces that are part of the larger society and affect the
microenvironment. It includes concepts such as demography, economy, natural forces, technology, politics,
and culture.

Demography refers to studying human populations in terms of size, density, location, age, gender,
race, and occupation. This is a verv important factor to study for marketers and helps to divide the
population into market segments and target markets. An example of demography 1s classifying groups of
people according to the year they were bom. These classifications can be referred to as baby boomers, who
are born between 1946 and 1964, generation X, who are born between 1965 and 1976, and generation Y,
who are born between 1977 and 1994. Each classification has different characteristics. This can be
beneficial to a marketer as they can decide who their product would benefit most and tailor their marketing
plan to attract that segment. Demography covers many aspects that are important to marketers including
family dynamics, geographic shifts, and work force changes in any given area.

Another aspect of the macro-environment is the economic environment. This refers to the purchasing
power of potential customers and the ways in which people spend their money.

The natural environment i1s another important factor of the macro-environment. This includes the
natural resources that a company uses. The concem in this area is the increased pollution, shortages of raw
materials and increased governmental intervention. As raw materials become scarcer, the ability to create
a company’s product gets much harder. Also, pollution can negatively affect a company’s reputation if a
company is known for damaging the environment. The last concern, government intervention can make it
increasingly harder for a company to fulfil their goals as requirements get stricter.

The technological environment is perhaps one of the fastest changing factors in the macro-
environment. This includes all developments from antibiotics and surgery to nuclear missiles and chemical
weapons to automobiles and credit cards. As these markets develop it can create new markets and new uses
for products. It also requires a company to update their own technology as 1t becomes outdated.

The political environment includes all laws, government agencies, and groups that influence or limit
other organizations and individuals within a society. It is important for marketers to be aware of these
restrictions as thev can be complex. Some products are regulated by both state and federal laws. There are
even restrictions for some products as to who the target market may be, for example, cigarettes should not



be marketed to younger children. There are also many restrictions on subliminal messages and monopolies.
As laws and regulations change often, this is a very important aspect for a marketer to monitor.

The final aspect of the macro-environment is the cultural environment, which consists of basic values
and beliefs of a group of people. The values can also be further categorized into core beliefs, which passed
on from generation to generation and very difficult to change, and secondary beliefs, which tend to be casier
to influence. As a marketer, it is important to know the difference between the two and to focus vour
marketing campaign to reflect the values of a target audience.

Tema 11. JIekcHKO — rpaMaTU4HI BIPaBH M0 TEKCTY

[TutanHs 1158 CAMOKOHTPOIIO!
1. BukonaTtu Bripasu 3a TekctoM «Macroenvironment.

Exercise 1. Answer the questions.

1.What does the market environment refer to? What concepts does it include? 2. What is
demography? Give examples of demography. 3. What is economic environment? 4. What does natural
environment involve and what is the concern in this area? 5. What are the fastest changing factors in the
macro-environment? What developments does it include? 6. What are the constituents of political
environment? 7. What is cultural environment?

Exercise 2. Give Ukrainian equivalents.
Gender, shortages of raw materials, become scarcer, to fulfil the goals, restrictions on subliminal
messages and monopolies, marketer, to reflect the values of a target audience.

Exercise 3. Give English equivalents.
KyniBeapHa CIPOMOXKHICTB, ACPIKABHC BTPYYAHHS, YCBLIOMIIIOBATH, OCHOBHI TEPCKOHAHHS,

reorpadivyHi IEpeMiLICHHS.

Exercise 4. Match market segments divided according to age groups to their definitions.

1) the silver market a) born after Generation X

2) baby boomers b) born after baby boomers

3) Generation X c) twenty to twenty-nine years old

4) Generation Y d) eight to twelve years old

5) Generation Z ¢) born between 1946-1964

6) twentysomethings  f) thirteen to nineteen years old

7) teens ) seniors over 70 years old

8) tweens h) born between the mid-1990s and the late
2000s

Po3ain Ne 2. «Jloricruka»
Tema 12. [TucbmoBuii nepexnazn rekcry «Job Discription»

[IuTanHa A1 CAMOKOHTPOIIO:

1. BukoHaTi nuCbMOBHIA NepeKIaa TEKCTy. BUKOHATH BrpaBH MiC/st TEKCTY HA MEPEBIpKy
pO3yMiHHA LBOTO TeKCTy (8, ¢.72 -73, 74)

2. 3BepHyTH yBary Ha cjoBa 710 TekcTy. Bunucaru ix 3 nepexianom (8., ¢.72).



Tema 13. Jlekcuko-rpaMaTu4Hi npaeu. { 8, ¢.75 - 77, ).

1. Bukonaru nexcuxo-rpamaruusi Bop. C. 75 Bnp 1, ¢. 73 Bnp 2,3, ¢. 74 Brip 4
2. BukoHaTH rpaMaTHYHy BIIPaBY HA MOBTOPEHHs MOAAIBHUX AlecB . 83 mp 10

Tema 14. I[TucbmoBuii nepeknan tekcry «Modes of Transportation
in Logistics. Continued». Jlexcuko — rpamMatuyHi Bripasu (8,¢. 88 - 91).

[TuTaHHA AN CAMOKOHTPOJIIO:
1. 3pobutu nucbMoBUii nepexnan Tekety (8,c. 88-89).
2. BukoHaTH BOpaBH MICHA TEKCTY Ha NEPeBipKy npountaHoi iHodopmaii (8 ,¢. 90-91).

Tema 15. PoGoTa 3 TekctoM «Classification of Incotermsy.
Jlekcuko — rpaMaTHuHi BripaBu (8, ¢.103-106).

ITutaHHA ANA CAMOKOHTPOJIIO:
1. BukoHaTH OTNANOBE YHTAHHS TEKCTY, BUITHCATH HOBI ciioBa (8, ¢.103).

2. BUKOHATH BIPABH MiCIsA TEKCTY Ha MEPERIPKY pO3yMiHHA Lboro Tekety (8, ¢.103-106).

Tema 16. ITucemosuii nepexnan rexkcry «Terms of Payment
in International Trade». Jlekcuko — rpamaTtudHi Brpaeu (8, ¢.118-121).

IMTutaHHA ANA CAMOKOHTPOJIIO:

1. BukonaTn nuceMoBHIl nepexan Texkcty (8, ¢.118).

2. BUKOHATH BIPABH MiCsA TEKCTY Ha MEPERIpKY pO3yMiHHA Lboro Tekety (8, ¢.120-121).
Tema 17, ITucemoBuii nepexnan Texcty: « Export Documents. Continued». (8, ¢.132).

[TuTaHHA AN CAMOKOHTPOIO:

1. BUkOHAaTH OTNANOBE YHTAHHS TEKCTY, BUITHCATH HOBI clioBa (8, ¢.132).

2. BUkoOHATH BIIPABH MiC/Isl TEKCTY HA MEPEBIPKY PO3YMIHHA L[BOrO TEKCTY (8, ¢.133 -134).

Tema 18. [TucemoBuii nepexnan Tekcty: «International Commercial Terms». (8, ¢.100-102).

ITutaHHA ANA CAMOKOHTPOJIIO:

1. BukoHaTH MHCbMOBHII nepexaan Texkcry (8, ¢.100 - 101).

2. BUKOHATH BITPABH MiCIsA TEKCTY Ha MEPeRIpKY pO3yMiHHA Hboro Tekety (8, ¢.101-102).

Tema 19, Jlexcuko — rpamaTu4Hi Bpasu (8, ¢.103-106).

[TuTaHHA AN CAMOKOHTPOJIIO:
1. BukoHaTH NeKCUKO — rpaMaThyHi BnpaBu 1-5 (8, ¢.108-109).

Tema 20, ITucemoBuii nepexnan Texcty: «Methods of Paymenty. (8, ¢.115-116).
ITuTaHHA ANA CAMOKOHTPOJIO:
1. BukoHaTH MUCBMOBHIT NepeKIa] TeKCTy (8, ¢.115).
2. BUkOHaTH BIIpaBH MiC/Is TEKCTY HA MEPEBIPKY PO3YMIHHA LbOro Tekety (8, ¢.116-117).

Tema 21. JIekcuko — rpaMaTH4Hi Bripaeu (8, ¢.122).

ITutaHHA ANA CAMOKOHTPOJIIO:



1. BUkoHaTH NIeKCUKO — rpaMaTu4Hi Brpaeu ¢. 122-125 erp. 1-5 ¢. 126 enp 9, ¢. 127 Bop 10,
(8, c.122).

Tema 22, ITucemoruii nepersian texcry: «Chaos at Heathrow’s New Terminal 5». (11, ¢.52).

ITuTaHHA AN CAMOKOHTPOJIIO:
1. BukoHaTH MHCBMOBHIT MTEPEKJIA TEKCTY, BUITHCATH HOBI ciioBa (11, ¢.52).
2. BUkOHaTH BIIpaBH MiC/Isi TEKCTY HA NEPEBIPKY PO3yMIHHA 1boro Tekety (11, ¢.52).

Tema 23. ITuceMoBuii nepeknan Tekcty «An Offer. Kinds of Offers».

IMTutaHHA ANA CAMOKOHTPOJIIO:
1. BukoHaTH MUCHMOBHIA MepeKIa TeKCTY, BUITHCATH HOBI clioBa (9, ¢.56).
2. BUKOHATH BIPABH MiCIS TEKCTY HAa MEPEBIPKY pO3yMiHHA LUbOro Tekety (9, ¢.57-58).

Tema 24, Bupuuti: « Structure of business letter». IlpaBuna ckiasaHHs AJOBOTO JIUCTA

ITuTaHHA AN CAMOKOHTPOJIIO:
1. BukoHaTH MHCBMOBHIA NEPEKIan TEKCTY, BUIIHCATH HOBI cioBa (5, ¢.40).
2. CxyacTu qucT 3a 3aBaHHsM (5, ¢. 42).

5. PekoMeHA0BaHi HABYAJIbHO-METOAHYHI MATepiaNn ANl BHBYEHHS
HABYAJBHOL AHCLHMILIIHHA

OcHoBHA JliTepaTypa

1. AxmanmHosa O.M. Business English for aviation managers. Hap4anbHuii nocionuk. — KuiB,
2007. - 176 ¢.

2.  Axmanmuosa O M., IMTucemenna O.0. Air Transportation: Organozation and Market. — Kuis,

2007. - 160 ¢.

AxmanmiHoBa O M. Financial Activity. HapuanpHubfi nociOHuk. — K.. KHukkoee

I



sunasHuLTBo HAY, 2006. — 144 c.
4. Tamnon FO.A. Business English. Anruiiicbka MOBa /Jisl 1IJIOBOrO CHiJIKyBaHHs: IHTEeHCUBHMIA
kypc: Hapu. ITocionuk. Kuis: Bun-so €spon. yu-ty, 2003. — 230 c.

Owosceka O.0. [Ho3emHa MoBa. MeToanuHI BKa3iBKH 10 MPOBEAECHHS MPAKTUYHHX 3aHATH

«inosa kopecnonzaexuisi». — Kpusuii Pir, 2017. —104 c.

6. TIlaBmok A.B. [lifioBe criiikyBaHHS aHIJICbKOK MOBOK. — TepHominb: JliGpa-Teppa, 2010.
—264c.

7. CepbinoBcbka A.M. Anrnuiickuii a3bik ans TypOusHeca m cepsuca. — M. Mspatenbcko-

Toprosasi komnanus «/lamkos u K», 2006. — 428 c.

[tykanina FO. Professional English for Students of Logistics. — Pira: - 2014. — 187 c.

9. Kyuepssa JI.B., Posym M.I,, AuminoroBa T.B. Ta im Professional English. Basics of
Economics. Airline Economics: HaBuaneHuii nociOuuk. — K.: Bug-so Hau. asiau. yH-Ty
«HAVY-npyx», 2011. — 460 c.

10. I'pamaTuyHi AOBIJHUKH 3 1HO3€MHOI MOBH.

11. Marion Grussendorf, English for Logistics. — Oxford University Press, 2009 — 95c.
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